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An Experimental Study on MPPT Control of Boost Converter
in Photovoltaic Energy Storage Systems

Ichijo HODAKA, Hirofumi HASHINOKUCHI
Abstract

O The boost converter in photovoltaic energy storage systems is used in the present study. The photovoltaic
energy storage systems operate with the MPP, and accumulate the all energy. A feedback control is confirmed
as one example of this independent type system with The boost converter. Because the boost converter is
a switching circuit, the operation point changes by switching. Moreover, there is a calculating formula of
feedback control that works by MPP if the voltage and the current can be measured when it knows the
maximum power current. However, this calculating formula is effective only that it knows the maximum
power current. Therefore, I thought about the algorithm that regularly measured the maximum power

current this time.

Keywords: Photovoltaic generation, Boost converter, MPPT, maximum power current,
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